

« بنف خدا »

تالیف سواد ۱۴

« کیوان کامر سبب »

21) $\cos 1x = \sqrt{2} \sin x - 1$ $\xrightarrow{\cos x = 1 - \sqrt{2} \sin x}$ $1 - \sqrt{2} \sin x = \sqrt{2} \sin x - 1$ KE2

$\rightarrow \sqrt{2} \sin^2 x + \sqrt{2} \sin x - 2 = 0 \rightarrow \sin x = \frac{-\sqrt{2} \pm \sqrt{2 + 16}}{2}$ (1)

$\rightarrow \sin x = \frac{-\sqrt{2}}{2} = -\frac{1}{\sqrt{2}}$ $\times$ غیر قابل قبول ε (2)

$\sin x = \frac{1}{\sqrt{2}} = \frac{1}{2} = \sin\left(\frac{\pi}{6}\right) \rightarrow \boxed{x = 2K\pi + \frac{\pi}{6}}$ $\checkmark$, $x = 2K\pi + \pi - \frac{\pi}{6}$

$\rightarrow \boxed{x = 2K\pi + \frac{\pi}{6}}$ $\checkmark$

22) $\cos 2x + \cos x - 2 = 0$ $\xrightarrow{\cos 2x = 2\cos^2 x - 1}$ $2\cos^2 x - 1 + \cos x - 2 = 0$

$\rightarrow 2\cos^2 x + \cos x - 3 = 0$ $\xrightarrow{\text{جمع ضابط}}$ $\cos x = -\frac{3}{2}$ $\times$ غیر قابل قبول

$\cos x = 1$

$\rightarrow \boxed{x = 2K\pi}$ $\checkmark$

سبب ب.ب.

KE2 (3)

23) $\sin^2 x - \cos^2 x = \sin x$ $\xrightarrow{\text{ضرب در } (\sin^2 x + \cos^2 x)}$ $(\sin^2 x - \cos^2 x)(\sin^2 x + \cos^2 x) = \sin x$

$\sin^2 x - \cos^2 x = \cos x$ $\xrightarrow{\text{مساوی}}$ $\cos x = \sin x$ $\xrightarrow{\cos x = -\sin x}$ $\cos\left(\frac{\pi}{2} + x\right) = -\sin x$

$\cos x = \cos\left(\frac{\pi}{2} + x\right) \rightarrow \frac{\pi}{2} + x = 2K\pi + x \rightarrow x = 2K\pi - \frac{\pi}{2}$

$\rightarrow \boxed{x = 2K\pi - \frac{\pi}{2}}$ $\checkmark$

$\frac{\pi}{2} + x = 2K\pi - x \rightarrow x = 2K\pi - \frac{\pi}{2}$

$\rightarrow \boxed{x = 2K\pi - \frac{\pi}{2}}$ $\checkmark$

$\rightarrow \boxed{x = \frac{K\pi}{2} - \frac{\pi}{4}}$ $\checkmark$

24) $\cot x (\cos x + 1) = \frac{1}{\sin x} \rightarrow \frac{\cos x}{\sin x} (\cos x + 1) = \frac{1}{\sin x}$ $\xrightarrow{\sin x}$ $\cos x (\cos x + 1) = 1$ $\xrightarrow{\cos x = -1}$ (4)

$\rightarrow \frac{\cos^2 x + \cos x - 1}{\sin x} = 0 \rightarrow \cos^2 x + \cos x - 1 = 0$ $\xrightarrow{\cos x = \frac{1}{2}}$ (5)

$\cos x = -1 \rightarrow \boxed{x = 2K\pi + \pi}$ $\checkmark$, $\cos x = \frac{1}{2} \rightarrow \boxed{x = 2K\pi \pm \frac{\pi}{3}}$ $\checkmark$ (6)

25) $\sqrt{2} \sin^2 x - \sin x \cos x + \cos^2 x = 1 + 1$ $\rightarrow -\sin x \cos x = \frac{1 - \sqrt{2} \sin^2 x + 1 - \cos^2 x}{\cos x}$

$-\frac{1}{2} \sin 2x = \cos^2 x + \sin^2 x \xrightarrow{\cos^2 x = \cos^2 x - \sin^2 x}$ $-\frac{1}{2} \sin 2x = \cos^2 x - \sin^2 x + \sin^2 x$

$\rightarrow -\frac{1}{2} \sin 2x = \cos^2 x \rightarrow \cos^2 x + \sin x \cos x = 0 \rightarrow \cos x (\cos x + \sin x) = 0$

① $\cos x = 0 \rightarrow \boxed{x = 2K\pi \pm \frac{\pi}{2}}$ $\checkmark$, ② $\sqrt{2} \sin\left(x + \frac{\pi}{4}\right) = 0$

$\rightarrow \sin\left(x + \frac{\pi}{4}\right) = 0 \rightarrow x + \frac{\pi}{4} = K\pi \rightarrow \boxed{x = K\pi - \frac{\pi}{4}}$ $\checkmark$

حل) $\cos(\frac{\pi}{2} + n) \cos(n - \frac{\pi}{2}) = \frac{1}{2} \xrightarrow{\cos(x) = \cos(-x)} \cos(\frac{\pi}{2} + n) \cos(\frac{\pi}{2} - n) = \frac{1}{2}$ K2 (E)

$\frac{\pi}{2} + n + \frac{\pi}{2} - n = \pi \xrightarrow{\text{مساوی}} \cos(n - \frac{\pi}{2}) = \sin(\frac{\pi}{2} + n) \rightarrow \cos(n + \frac{\pi}{2}) \sin(n + \frac{\pi}{2}) = \frac{1}{2}$ (P)

$\frac{1}{r} \sin(r(n + \frac{\pi}{2})) = \frac{1}{2} \rightarrow \sin(\frac{\pi}{2} + rn) = \frac{1}{2} \rightarrow \cos rn = \frac{1}{2} = \cos(\frac{\pi}{3})$
 $\rightarrow rn = rKa + \frac{\pi}{3} \rightarrow \boxed{n = \frac{Ka + \frac{\pi}{3}}{r}} \checkmark$ $\vee$ $rn = rKa - \frac{\pi}{3} \rightarrow \boxed{n = \frac{Ka - \frac{\pi}{3}}{r}} \checkmark$

ب) $\cos(rn - \frac{\pi}{3}) = \sin(-rn) \rightarrow \cos(rn - \frac{\pi}{3}) = \cos(\frac{\pi}{3} + rn)$

① $rn - \frac{\pi}{3} = rKa + \frac{\pi}{3} + rn \rightarrow$ جواب ندارد X

② $rn - \frac{\pi}{3} = rKa - \frac{\pi}{3} - rn \rightarrow rn = rKa + \frac{\pi}{3} \xrightarrow{\div r} \boxed{n = \frac{Ka + \frac{\pi}{3}}{r}} \checkmark$

$\frac{\sin En + \sin rn}{\sin rn} - \sin^n = \cos^n \xrightarrow{\text{تقسیم}} \frac{\sin En}{\sin rn} + \frac{\sin rn}{\sin rn} = \cos^n + \sin^n$ (C) (P)

$\frac{r \sin^n \cos^n + 1}{\sin^n} = 1 \rightarrow r \cos^n = 0 \rightarrow \cos^n = 0 \rightarrow rn = rKa + \frac{\pi}{2}$
 $\rightarrow \boxed{n = \frac{Ka + \frac{\pi}{2}}{r}} \checkmark$

$\frac{\sin \frac{\pi}{r}}{1 + \cos \frac{\pi}{r}} = \frac{1}{\sin \frac{\pi}{r}} + \frac{\cos \frac{\pi}{r}}{\sin \frac{\pi}{r}} \rightarrow \frac{\sin \frac{\pi}{r}}{1 + \cos \frac{\pi}{r}} = \frac{1 + \cos \frac{\pi}{r}}{\sin \frac{\pi}{r}} \xrightarrow{\text{هم‌نام}} \frac{\sin \frac{\pi}{r}}{1 + \cos \frac{\pi}{r}} = \frac{1 - \cos \frac{\pi}{r}}{1 + \cos \frac{\pi}{r}}$ (E) (P)

$\frac{\sin \frac{\pi}{r}}{1 + \cos \frac{\pi}{r}} = \frac{1 - \cos \frac{\pi}{r}}{\sin \frac{\pi}{r}} = \frac{1 + \cos \frac{\pi}{r}}{\sin \frac{\pi}{r}} \rightarrow \sin \frac{\pi}{r} - \cos \frac{\pi}{r} \sin \frac{\pi}{r} = \sin \frac{\pi}{r} + \sin \frac{\pi}{r} \cos \frac{\pi}{r}$

$\sin \frac{\pi}{r} \cos \frac{\pi}{r} + \sin \frac{\pi}{r} \cos \frac{\pi}{r} = 0 \rightarrow \sin \frac{\pi}{r} = 0 \rightarrow n = rKa$

$n = \{-\pi, 0, \pi\} \rightarrow |n - 0 - (-\pi)| = \boxed{r\pi} \checkmark$

$\cos^n - \sin^n \cos^n = 1 \rightarrow -\sin^n \cos^n = 1 - \cos^n \rightarrow -\sin^n \cos^n = \sin^n$ (V)

$\sin^n \cos^n + \sin^n = 0 \rightarrow \sin^n (\cos^n + 1) = 0$

① $\sin^n = 0 \rightarrow \sin n = 0 \rightarrow n = rKa \checkmark \rightarrow n = \{0, \pi, 2\pi\}$

② $\cos^n + 1 = 0 \rightarrow \cos^n = -1 \rightarrow rn = rKa + \pi \rightarrow n = \frac{rKa + \pi}{r} \rightarrow n = \{\frac{\pi}{r}, \frac{3\pi}{r}, \frac{5\pi}{r}\}$

درک 4 جواب داریم! این جوابها مشترک است

ارتقاء

Farhang Gostar

$$\frac{1 - \tan x}{1 + \tan x} = \tan^k x \rightarrow \tan^k x + \tan^k x \tan x = 1 - \tan x \quad (1)$$

$$\rightarrow \tan^k x + \tan x = 1 - \tan^k x \tan x \quad \tan^k x = \frac{\tan^k x + \tan x}{1 - \tan^k x \tan x} \quad \tan \varepsilon = 1 = \tan\left(\frac{\pi}{4}\right)$$

$$\rightarrow \varepsilon = K\alpha + \frac{\pi}{\varepsilon} \rightarrow \boxed{x = \frac{K\alpha}{\varepsilon} + \frac{\pi}{14}} \quad \checkmark$$

$$\sqrt{1 + \sin^2 x} = \sqrt{r} \cos^k x \xrightarrow{\text{C.O.S.}} 1 + \sin^2 x = r \cos^2 x \rightarrow r \cos^2 x - 1 = \sin^2 x \quad (2)$$

$$\cos^2 x = \sin^2 x \rightarrow \tan^2 x = 1 \rightarrow x = K\alpha + \frac{\pi}{\varepsilon} \rightarrow \boxed{x = \frac{K\alpha}{r} + \frac{\pi}{\lambda}}$$

$$\rightarrow K = 0, 1 \xrightarrow{x \in [0, \pi]} x = \left\{ \frac{\pi}{\lambda}, \frac{\pi}{r} + \frac{\pi}{\lambda} \right\} \quad \checkmark$$

ii) $\sin^k x - \cos^k x = 1 \xrightarrow{x=1} \cos^k x - \sin^k x = -1 \quad (3)$

إذن $(\cos^k x + \sin^k x)(\cos^k x - \sin^k x) = -1 \xrightarrow{\cos^k x - \sin^k x = \cos^k x} \cos^k x = -1$

$$\rightarrow x = rK\alpha + \alpha \rightarrow x = K\alpha + \frac{\pi}{r} \quad x \in [0, \pi] \quad K = 0, 1 \quad x = \left\{ \frac{\pi}{r}, \frac{\pi}{r} + \frac{\pi}{r} \right\}$$

ب) $\sin^k x - \cos^k x = -1 \xrightarrow{\tan \frac{x}{r} = t} \left(\frac{rt}{1+t^2} \right)^k - \left(\frac{1-t^2}{1+t^2} \right)^k = -1$

$$\rightarrow t = -1 \rightarrow \tan\left(\frac{x}{r}\right) = -1 \rightarrow \frac{x}{r} = K\alpha + \frac{\pi}{\varepsilon} \rightarrow x = rK\alpha + \frac{\pi}{\varepsilon} \quad \checkmark$$

$$t = 0 \rightarrow \tan\left(\frac{x}{r}\right) = 0 \rightarrow \frac{x}{r} = K\alpha \rightarrow x = rK\alpha \quad \checkmark$$

$$x \in [0, \pi] \rightarrow x = \left\{ \frac{\pi}{r}, rK\alpha \right\} \quad \checkmark$$

$$\gamma C \cdot s^n + \gamma \sin n C \cdot S_n < 1 \quad \begin{cases} \gamma \sin n C \cdot S_n = \sin \gamma n \\ \frac{1 + C \cdot s^n}{\gamma} = C \cdot s^n \end{cases}$$

سوال ۲ - جاب

$$1 + C \cdot s^n + \sin \gamma n < 1 \rightarrow \cos \gamma n + \sin \gamma n = 0$$

$$\tan \gamma n = -1 \rightarrow \gamma n = k\pi - \frac{\pi}{2} \rightarrow n = \frac{k\pi}{\gamma} - \frac{\pi}{\lambda}$$